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Section 1 - PaperI-English Language 

 

1) Select the correct form of verb from the given options.  
I ____________ to the cinema tomorrow also, I have a lot 
of work to finish. 

 
A) will go  
B) am going  
C) am not going  
D) will not be going  

 

 
 
Read the passage and answer the questions that follow: 
 
Fresh tomatoes received at a tomato processing plant can 
be turned into a variety of different products, one of which 
includes ketchup. The process begins by washing the 
tomatoes to remove any outer dirt and foreign matter from 
the skin before processing. Upon inspection, damaged, 
spoiled or unwanted tomatoes will be sorted out manually. 
Tomatoes will usually be conveyed by water throughout 
the preliminary stages to avoid bruising.After being sorted, 
washed and chopped up, they proceed into large steel 
vats for preservation/precooking and also to destroy any 
bacteria that could be harmful to the rest of the processing 
period as well as for the consumer after production. The 
juice will be extracted out by a juice extraction system. The 
outer skin, seed, stem, and fiber of fruits would be 
separated from the liquid in a process known as pulping. 
Once separated, the juice and the pulp from the tomato 
get filtered and processed into ketchup. A smoother 
ketchup consistency is achieved through more filtering 
and screenings, weeding out any excess pulp. Ketchup 
processing includes adding additional ingredients, 
cooking, more screening and filtering, air-removal, 
packaging and cooling.After juice filtration, additional 
ingredients are added to the mixture to achieve the 
desired taste and consistency. Some of the main 
ingredients used to create ketchup include sweeteners, 
vinegar, salt and spices, and flavouring. These additions 
are usually integrated later on in the process except for 
some spices added in at the beginning. Throughout the 
entire process, the temperature must be consistently 
monitored to make sure all the ingredients are being 
added and appropriately absorbed. Air is then removed to 
prevent oxidation, maintain proper colouring and inhibit 
the growth of any unwanted bacteria. Before being 
packaged, the ketchup is heated to approx.190 °F (88 °C) 
to prevent contamination. After packaging, the bottles are 
immediately sealed to retain the freshness and preserve 
the shelf-life of the product. The final step is cooling the 
product via cold air or water to maintain its 
flavour.Different manufacturers will label their products 
accordingly with all the necessary nutritional and other 
legal information as required.  

2) To preserve the shelf life of the Ketchup, the bottles are  

A) heated to 190 °F  
B) passed through cold air  
C) oxidized  
D) immediately sealed  

 

 
 
3) The temperature should be consistently monitored to 
check if the  

A) ingredients are appropriately absorbed  
B) pulp has been screened properly  
C) colour is properly maintained  
D) ketchup retains its freshness  

 

 
 
4) To achieve the desired Ketchup taste and consistency,  

A) the juice is filtered  
B) tomatoes are precooked  
C) salt and spice is added  
D) tomatoes go through the pulping process  

 

 
 
5) During the preliminary stages of Ketchup processing, 
the tomatoes are transported using water to  

A) loss of flavour  
B) avoid oxidation  
C) avoid bruising  
D) avoid contamination  

 

 
 
6) The Ketchup is heated to 88 °C before packing to  

A) avoid contamination  
B) prevent oxidation  
C) preserve natural colour  
D) inhibit unwanted bacterial growth  
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7) Select the correct option.  
Maria is my __________ favourite teacher. 

 
A) no article  
B) a  
C) the  
D) an  

 

 
 
8) Find the most appropriate opposite meaning word: 
EXPAND  

A) Embellish  
B) Broaden  
C) Compact  
D) Condemn  

 

 
 
9) What is the plural form of Index?  

A) Indxss  
B) Indices  
C) Indexss  
D) Indexs  

 

 
 
10) Find the most appropriate opposite meaning word: 
GREGARIOUS  

A) Cold  
B) Glorious  
C) Affable  
D) Convivial  
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Section 2 - PaperI-Education and General Awareness 

 

11) Which among the following options is the densest 
known metal on earth?  

A) Titanium  
B) Osmium  
C) Tungsten  
D) Uranium  

 

 
 
11) ନମିȪ ବକିƝଗଡୁିକ ମżରୁ େକଉଟଁ ି ପୃǆବୀେର ମିଳୁǆବା ŗାତ ଧାତୁ ମżରୁ 
ସବୁଠାରୁ ନଦିା?  

A) ଟଟିାନୟିମ  

B) ଓସମିୟମ  

C) ଟŏƨନ  
D) ୟୁରାନୟିମ  

 

 
 
12) The Central Institute of English, a premier Language 
institution is situated at _____  

A) Delhi  
B) Srinagar  
C) Mysore  
D) Hyderabad  

 

 
 
12) ଏକ Ȅମଖୁ ଭାଷା ଅନୁƪାନ, େସŠȱାଲ ଇନƨିଚୁȻଟ ଅଫ ଇଂଲିଶ େକଉଁ ଠାେର 
ଅବƳତି?  

A) ଦơିୀ  
B) Ȏୀନଗର  
C) ମଇଶୁର  
D) ହାଇȁାବାଦ  

 

 
 
13) Which of the following committees recommended for 
the appointment of AICTE i.e. All India Council for 
Technical Education?  

A) Secondary Education Commission  
B) Pires Committee  
C) Janardan Reddy Committee  
D) The Sargent Report  

 

13) ନମିȪମżରୁ େକଉଁ କମଟି ିଏଆଇସଟିଇି (ଯାହାକ ି- ଅଲ ଇŢିଆ କାଉନସଲି 
ଫର େଟକିȪକାଲ ଏଜୁେକଶନ) ନଯିୁĽି ପାଇଁ ସପୁାରଶି କରǆିେଲ?  

A) େସେକŢାରୀ ଏଜୁେକସନ କମସିନ  
B) ପିଏସƽ କମିଟ ି 

C) ଜନାŵƽନ େରşୀ କମିଟ ି 
D) ସାଜƽŠ ରେିପାଟƽ  

 

 
 
14) According to National Policy of Education +2 stage 
should be accepted as part of which level of education?  

A) graduate  
B) high school  
C) under graduate  
D) primary school  

 

 
 
14) ନȻାସନାଲ ପଲିସି ଅଫ ଏଜୁେକସନ ଅନୁସାେର +2 ପଯƽȻାୟ େକଉଁ ଶŁିାର 
ଅଂଶ ଭାେବ ǲହଣ କରାଯିବା ଆବଶȻକ?  

A) Ƶାତକ  
B) ଉő ବଦିȻାଳୟ  
C) ଅŢର ǲାଜୁଏଟ  

D) Ȅାଥମିକ ବଦିȻାଳୟ  
 

 
 
15) Which one of the following states has no Legislative 
Council?  

A) Bihar  
B) Maharashtra  
C) Haryana  
D) Uttar Pradesh  

 

 
 
15) ନମିȪମżରୁ େକଉଁ ରାଜȻର ବଧିାନ ପରିଷଦ ନାହ ǂ?  

A) ବହିାର  
B) ମହାରାƩ  

C) ହରିୟାଣା  
D) ଉŧର Ȅେଦଶ  
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Section 3 - PaperI-Reasoning 

16) Instruction: Below mentioned are statements 
followed by some conclusions. You have to take the 
given statements to be true even if they seem to be at 
variance from the commonly known facts. Read all the 
conclusions and then decide which of the given 
conclusions logically follows from the given statements 
disregarding commonly known facts. 
 
Statements: 
Some pianos are trumphets. 
All trumphets are saxophones. 
 
Conclusions: 
I) Some pianos are saxophones. 
II) No trumphet is piano.  

A) Only I follows  
B) Only II follows  
C) Both I and II follow  
D) None of the conclusions follow  

 

 
 
16) ନେିŵƽଶାବଳୀ: ତେଳ ଦଆିଯାଇǆବା ମŽବȻ ପଛକୁ କଛି ିନƯିଷƽ ଦଆିଯାଇଛ ି । 
ଆପଣŋୁ ଦଆିଯାଇǆବା ମŽବȻକୁ ସତȻ େବାଲି ମାନବିାକୁ ପଡବି ଯଦଓି ବ ିଏହା 
ସାଧାରଣେର ଜଣାǆବା ତଥȻଠାରୁ ଭƊି େଦଖାଯାଉଥାଏ । ସମƱ ନƦିସƽକୁ ପଢŽୁ 
ଏବଂ ତାପେର ନƬିŧି ନିଅŽୁ,  ଦଆିଯାଇǆବା ନƦିସƽ ମżରୁ େକଉଁଟା ସାଧାରଣେର 
ଜଣାǆବା ତଥȻର ଅବମାନନା କରୁǆବା ମŽବȻକୁ ଠǉି ଭାେବ ଅନୁସରଣ କରୁଛ ି।  
ମŽବȻ: କଛି ିପିଆେନା ଗୁଡକି ǺେƓǓ ସ  । ସବୁ େǺେƓ୍Ǔ ସ ଗଡୁକି ସାŅେଫାǜ ସ 
। 

ନƦିସƽ:  

I) କଛି ିପିଆେନା ଗଡୁକି ସାŅେଫାନ ।  

II)  େକୗଣସ ିǺେƓǓ ପଆିେନା ନୁେହ ଁ। 

 
A) େକବଳ I ଅନୁସରଣ କରŽୁ  

B) େକବଳ II ଅନୁସରଣ କରŽୁ  
C) ଉଭୟ I ଏବଂ II ଅନୁସରଣ କରŽୁ  

D) େକୗଣସ ିବ ିନଯିƽାସକୁ ଅନୁସରଣ କରŽୁ ନାହ ǂ  
 

 
 
 
 
 

17) If 150% of a number is 630, what is 250% of the same 
number?  

A) 800  
B) 1050  
C) 750  
D) 1250  

 

 

17) ଯଦ ିଏକ ସଂଖȻାର 150% େହଉଛ ି630, େସହ ିସମାନ ସଂଖȻାର 250% 
େକେତ େହବ?  

A) 800  
B) 1050  
C) 750  
D) 1250  

 

 
 
18) In a certain code language, HORSES is written as 
GPQTDT. How is GOOGLE written in that code 
language?  

A) HPPHMF  
B) FPNHKF  
C) FNNFKD  
D) HNPFMD  

 

 
 
18) ଏକ ନŵିǃƨ ସାେŋତକି ଭାଷାେର, HORSES କୁ GPQTDT େବାଲି 
େଲଖାଯାଇଛ ି। େସହ ିସାେŋତକି ଭାଷାେର GOOGLE କୁ କଭିଳ ିେଲǅେବ?  

A) HPPHMF  
B) FPNHKF  
C) FNNFKD  
D) HNPFMD  
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19) Instruction: 
In the following questions mark:  
1, if the question can be answered with the help of 
statement I alone. 

2, if the question can be answered with the help of 
statement II alone. 

3, if the question can be answered with the help of both I 
and II. 

4, if the question can't be answered at all. 
 
When is Victor's birthday? 
 
Statement I : Victor's only brother was born on 17th July 
1995. 
Statement II : Victor is eaxtly 2 years younger than his 
brother. 

 
A) 1  
B) 3  
C) 4  
D) 2  

 

 
 
19) ନେିŵƽଶାବଳୀ: ନମିȪଲିǅତ ȄଶȪେର  
1 ଚƺିଟ କରŽୁ ଯଦ ିେକବଳ ମŽବȻ I ସାହାଯȻେର ȄଶȪର ଉŧର ଦଆିଯାଇପାରୁଛ ି
।  

2 ଚƺିଟ କରŽୁ, ଯଦ ିେକବଳ ମŽବȻ II ସହେଯାଗେର ȄଶȪର ଉŧର ଦଆିଯାଇ 
ପାରୁଛ ି।  

3, ଯଦ ିଉଭୟ I ଏବଂ II ସହେଯାଗେର ȄଶȪର ଉŧର ଦଆିଯାଇ ପାରୁଛ ି।  

4, ଯଦ ିȄଶȪର ଉŧର େକେବ ବ ିଦଆିଯାଇ ପାରବି ନାହ ǂ । 

 ଭିକȡରର ଜନȯଦନି େକେବ ? 

ମŽବȻ I : ଭକିȡରର େକବଳ େଗାଟଏି ଭାଇ ଯିଏକ ି1995 ଜୁଇଲା 17 ତାରଖିେର 
ଜନȯ େହାଇǆେଲ । 

ମŽବȻ II : ଭିକȜର େହଉଛ ିତାର ଭାଇ ଠାରୁ ଠǉି ଦୁଇ ବଷƽ ସାନ। 

 
A) 1  
B) 3  
C) 4  
D) 2  

 

 
 
 

20) Instruction: Below mentioned are statements 
followed by some conclusions. You have to take the 
given statements to be true even if they seem to be at 
variance from the commonly known facts. Read all the 
conclusions and then decide which of the given 
conclusions logically follows from the given statements 
disregarding commonly known facts. 
 
Statements: 
Some trains are ships. 
Some ships are helicopters. 
All the helicopters are buses. 
 
Conclusions: 
I) Some buses are ships. 
II) Some helicopters are trains. 
III) No helicopter is train. 
IV) Some ships are trains.  

A) Only I, IV and either II or III follow  
B) Only II and IV follow  
C) Only II and III follow  
D) Only I and II follow  

 

 
 
20) ନେିŵƽଶାବଳୀ: ତେଳ ଦଆିଯାଇǆବା ମŽବȻ ପଛକୁ କଛି ିନƯିଷƽ ଦଆିଯାଇଛ ି । 
ଆପଣŋୁ ଦଆିଯାଇǆବା ମŽବȻକୁ ସତȻ େବାଲି ମାନବିାକୁ ପଡବି ଯଦଓି ବ ିଏହା 
ସାଧାରଣେର ଜଣାǆବା ତଥȻଠାରୁ ଭƊି େଦଖାଯାଉଥାଏ । ସମƱ ନƦିସƽକୁ ପଢŽୁ 
ଏବଂ ତାପେର ନƬିŧି ନଅିŽୁ,  ଦଆିଯାଇǆବା ନƦିସƽ ମżରୁ େକଉଁଟା ସାଧାରଣେର 
ଜଣାǆବା ତଥȻର ଅବମାନନା କରୁǆବା ମŽବȻକୁ ଠǉି ଭାେବ ଅନୁସରଣ କରୁଛ ି।  
ମŽବȻ: କଛି ିେǺନ େହଉଛ ିଜାହାଜ । କଛି ିଜାହାଜ େହଉଛ ିେହଲିକପȡର  । ସବୁ 
େହଲିକȫଟର ଗଡୁିକ େହଉଛ ିବସ ।  

ନƦିସƽ:  

I)  କଛି ିବǩ େହଉଛ ିଜାହାଜ  

II)  କଛି ିେହଲିକପȡର େହଉଛ ିେǺନ    

lll) େକୗଣସ ିେହଲିକପȡର େǺନ ନୁେହ ଁ।  

IV) କଛି ିଜାହାଜ େହଉଛŽି େǺǜ । 

 
A) େକବଳ I, IV ଏବଂ  II କମିȴା IIIରୁ େଗାଟଏି ଅନୁସରଣ କରŽୁ  

B) େକବଳ II ଏବଂ  IV ଅନୁସରଣ କରŽୁ ।  
C) େକବଳ II ଏବଂ  III ଅନୁସରଣ କରŽୁ ।  
D) େକବଳ I ଏବଂ  II ଅନୁସରଣ କରŽୁ ।  
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Section 4 - PaperI-Teaching Aptitude 

 

21) Read the following statements and choose the 
CORRECT option.  
(i)The Education Commission was appointed by the 
Government of India on July 14th, 1974. 

(ii)The unique feature of the Commission was its 
conviction that education is the most powerful instrument 
of the national development. 

 
A) (i) is FALSE and (ii) is TRUE  
B) (i) is FALSE and (ii) is FALSE  
C) (i) is TRUE and (ii) is FALSE  
D) (i) is TRUE and (ii) is TRUE  

 

 
 
21) ନେିମȪାĽ ବାକȻଗଡ଼ୁକୁି ପଢ଼Žୁ ଏବଂ ଠǉି  ବକିƝ ବାଛŽୁ 
 
(i)  1974 ମସହିା ଜୁଲାଇ 14 ତାରଖିେର ଭାରତ ସରକାରŋ Ÿାରା ଶŁିା 
କମିଶନ ନଯିĽିୁ ପାଇǆେଲ। 
 
(ii) ଜାତୀୟ ବକିାଶ ନମିେŽ ଶିŁା ହǂ ସବୁଠାରୁ ଶĽିଶାଳୀ ମାżମ େବାଲି ଦୃଢ଼ 
ବƤିାସ ହǂ ଏହ ିକମଶିନର ଅନନȻ େବଶୖƨିȻ ǆଲା।  

A) (i)ଭୁଲ ଏବଂ (ii) ଠǉି   
B) (i)ଭୁଲ ଏବଂ (ii)ଭୁଲ  
C) (i)ଠǉି  ଏବଂ (ii) is ଭୁଲ  
D) (i)ଠǉି  ଏବଂ (ii) ଠǉି   

 

 
 
22) For a slow learner which one of the following 
strategies is best for learning?  

A) A slow learner should work hard so that it results in 
better learning  

B) Prescriptive/ remedial teaching  
C) Learning according to a learner's pace will be 

excellent  
D) Learner can go for additional tution  

 

 
 
 
 
 
 
 
 

22) ଜେଣ ଧୀମା ଶିŁାଥƽୀ ପାଇଁ ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ିସବƽେȎƪ ଉପାୟ ?  

A) ଜେଣ ଧୀମା ଶିŁାଥƽୀ କଠନି ପରȎିମ କରବିା ଉଚǘି ଯାହା ଫଳେର ଏହା ଭଲ 
ଶŁିଣ ସୃƨି କରପିାରବି  

B) ଆନୁବଂଶିକ/ Ȅତକିାରମୂଳକ ଶŁିଣ  

C) ଶŁିାଥƽୀର ଗତ ିଅନୁଯାୟୀ ଶŁିଣ ହǂ ଉŦɲ ƨ େହବ  
D) ଶŁିାଥƽୀ ଅତରିĽି ଟଉିସǜ ପାଇଁ ଯାଇପାରେିବ  

 

 
 
23) The students who are less active in academic work 
can be engaged in which of the following activities?  

A) Asking the more verbose students not to hold back 
from commenting  

B) By using verbal and non-verbal cues in a restricted 
manner inorder to encourage participation  

C) Conduct lively discussions in which at least some 
active students participate  

D) By arranging the room in a way that encourages 
active engagement  

 

 
 
23) ପାଠ ପଢାେର କମ ସǰିୟ ǆବା ବଦିȻାଥƽୀମାନŋୁ ନମିȪମżରୁ େକଉଁ 
ǰିୟାକଳାପେର ଲଗାଯାଇପାରବି?  

A) ଅǇକ କଥା କହୁǆବା ବଦିȻାଥƽୀମାନŋୁ ଟƍିଣୀ େଦବାରୁ ନ ଅଟେକଇବା ପାଇ ଁ
କହବିା  

B) ଅଂଶǲହଣକୁ େȄାŰାହତି କରିବା ପାଇଁ େମୗǅକ ଓ ଅଣ-େମୗǅକ ସେŋତ 
ସୀମତି ଭାେବ ବȻବହାର କରିବା Ÿାରା  

C) ଜୀବŽ ଆେଲାଚନାଗଡୁକି ଆେୟାଜନ କରବିା ଯାହା Ÿାରା ଅତ ିକମେର କଛି ି
ସǰିୟ ବଦିȻାଥƽୀ ଅଂଶǲହଣ କରେିବ |  

D) କŁକୁ ଏପର ିଭାେବ ବȻବƳତି କରବିା ଯାହା Ÿାରା ସǰିୟ ଭାେବ ନଜିକୁ ବȻƱ 
ରǅବାକୁ େȄାŰାହତି କରବି |  

 

 
24) According to Pragmatists, what should be the aim of 
education?  

A) Education becomes stereotyped and education takes 
the form of indoctrination  

B) Self-expression or self-gratification  
C) Enabling the individual to control his environment and 

fulfil his possibilities  
D) Self-realisation or unfolding of what is potential within 

the child  
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24) ବାƱବବାଦୀମାନŋ ଅନୁଯାୟୀ ଶିŁାର ଲŁȻ କ’ଣ େହବା ଉଚତି ?  

A) ଶŁିା ଗତାନୁଗତକି େହାଇଯାଇଛ ିଏବଂ ଶିŁା ଭାବନାର ରୂପ େନଇଛ ି 
B) ଆŮ ଅଭିବȻĽି କମିȴା ଆŮ ସେŽାଷ  

C) ବȻĽି ବେିଶଷŋୁ ତାŋ ପରେିବଶକୁ ନୟିſଣ କରବିା ଏବଂ ନଜିର 
ସƗାବନାଗଡ଼ୁକୁି ପୂରଣ କରବିା ନମିେŽ ସମଥƽ କରବିା  

D) ନଜିକୁ ବୁଝବିା କମିȴା ଶଶିୁ ମżେର େକଉଁ Łମତା ରହଛି ିତାହା ଚƺିବିା  
 

 
 
25) In which of the following techniques, teaching and 
assessment are viewed as two separate entities?  

A) Co-operative Approach to Learning  
B) High Tech Approach to Learning  
C) Teacher-centered Approach to Learning  
D) Inquiry-Based Approach to Learning  

 

 
 
25) ନମିȪଲିǅତ ମżରୁ େକଉଁ Ȅେୟାଗ ବŗିାନ େର ଶŁିଣ ଓ ମୂଲȻାŋନ କୁ ଦୁଇଟ ି
ଅଲଗା ଅଲଗା ସଂƳା ରୂପେର େଦଖାଯାଇଥାଏ?  

A) ଶǅିବା ପାଇଁ ସହକାରୀ ଦୃƨିେକାଣ  

B) ଶŁିା ପାଇଁ ହାଇେଟǉ ଦୃƨିେକାଣ  
C) ଶǅିବା ପାଇଁ ଶିŁକ େକƄତି ଦୃƨେିକାଣ  
D) ଶŁିା ପାଇଁ ପଚରାପଚର ିଆଧାରିତ ଦୃƨେିକାଣ  

 

 
 
26) Which of the following reports criticized the Teacher 
Education Programme being conventional, rigid and away 
from reality?  

A) Knowledge Commission Report  
B) Kothari Commission Report  
C) Higher Education Commission Report  
D) Radhakrishnan Committee Report  

 

 
 
26) ନମିȪଲିǅତ େକଉଁ ରେିପାଟƽେର ଶିŁକ ଶŁିା କାଯƽȻǰମ ପାରƓରକି, 
ଅନମନୀୟ େହବା ସହ ଏବଂ ବାƱବତାଠାରୁ ଦୂେରଇ ଯାଉଛ ିେବାଲି ସମାେଲାଚନା 
କରାଯାଇଛ?ି  

A) ନେଲǐ  କମଶିନ ରେିପାଟƽ  
B) େକାଠାରୀ କମଶିନ ରେିପାଟƽ  
C) ଉőଶŁିା କମଶିନ ରେିପାଟƽ  
D) ରାଧାǰୀƫ କମିଟ ିରେିପାଟƽ  

 

27) Effective learning, good teacher-pupil relationships, 
and peer collaboration can be obtained in a  

A) Experienced management system  
B) Experienced teaching system  
C) Controlling classroom environment  
D) Controlled classroom environment  

 

 
 
27) Ȅଭାବକାରୀ ଅżୟନ, ଭଲ ଗୁରୁ-ଶଷିȻ ସƓକƽ, ଏବଂ ସହକମƽୀŋ ସହେଯାଗ 
ଏହା ମżରୁ େକଉଁ ǆେର ମିଳଥିାଏ ?  

A) ଅନୁଭବୀ ପରଚିାଳନା ବȻବƳା  
B) ଅନୁଭବୀ ଶିŁାଦାନ ବȻବƳା  
C) ନୟିſଣ େହଉǆବା େȎଣୀଗହୃ ବାତାବରଣେର  

D) ନୟିſତି େȎଣୀଗୃହ ବାତାବରଣେର  
 

 
 
28) With reference to classroom management, read the 
following statements and choose the CORRECT option.  
(i) Develop lessons at a level that challenges students and 
is difficult or confusing. 

(ii) Make learning intrinsically interesting by relating lesson 
content to the students’ life and local environment. 

 
A) (i) is TRUE and (ii) is FALSE  
B) (i) is FALSE and (ii) is TRUE  
C) (i) is FALSE and (ii) is FALSE  
D) (i) is TRUE and (ii) is TRUE  

 

 
 
28) େȎଣୀଗୃହ ପରିଚାଳନା ସƃଭƽେର ନମିȪମżରୁ େକଉଁ ବକିƝଟ ିସଠକି ଅେଟ ?  
(i) ଏପର ିଏକ Ʊରର Ÿƃମୟ ବା କƨ ପାଠȻǰମ କରାଯିବା ଯାହା ବଦିȻାଥƽୀŋ 
ପାଇଁ ଆହȴାନ େହବ |  

(ii) ପାଠȻǰମ ବଷିୟବƱୁକୁ ବଦିȻାଥƽୀର ଜୀବନ ଏବଂ Ƴାନୀୟ ପରିେବଶ ସହ େମଳ 
କରି ଅżୟନକୁ େରାଚକ କରାଯିବା | 

 
A) (i) େହଉଛ ିଠକି ଏବଂ (ii) େହଉଛ ିଭୁଲ  
B) (i) େହଉଛ ିଭୁଲ ଏବଂ (ii) େହଉଛ ିଠକି  

C) (i) େହଉଛ ିଭୁଲ ଏବଂ (ii) େହଉଛ ିଭୁଲ  
D) (i) େହଉଛ ିଠକି ଏବଂ  (ii) େହଉଛ ିଠକି  
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29) The theory of cognitive devlopment is associated with  

A) Maria Montessori  
B) Jean Piaget  
C) Anna Freud  
D) Kohlberg  

 

 
 
29) େବାଧଶĽି ବକିାଶର ସŶିାŽଟ ିକାହା ସହତି ଜଡ଼ତି ଅେଟ ?  

A) ମାରଆି ମେŠଶର ି 

B) ଜǜି ପିେଜǓ  

C) ଆƊା େȅଉǕ  

D) େକାଲବଗƽ  
 

 
 
30) After a formal teachers' training course like B.Ed, the 
teacher can teach the following classes  

A) up to Class 12  
B) up to Class 10  
C) up to Class 5  
D) up to Class 1  

 

 
 
30) ବ.ିଏǕ ଭଳ ିଆନୁƪାନକି ଶିŁକ ȄଶŁିଣ େନବା ପେର ଜେଣ ଶŁିକ େକଉ ଁ
େȎଣୀ ପଯƽȻŽ ଶିŁାଦାନ କରପିାରବି ?  

A) ୧୨ଶ େȎଣୀ ପଯƽȻŽ  

B) ୧୦ମ େȎଣୀ ପଯƽȻŽ  

C) ୫ମ େȎଣୀ ପଯƽȻŽ  
D) ୧ମ େȎଣୀ ପଯƽȻŽ  
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Section 5 - PaperII-Odia Language 

 

31) ' ଭାଗବତ ' - ଏହା େକଉଁ Ȅକାର ବେିଶଷȻ ଅେଟ ?  

A) ସଂଗȻା ବାଚକ  

B) ଜାତ ିବାଚକ   
C) ବƱୁ ବାଚକ  
D) ǰିୟା ବାଚକ  

 

 
 
32) ନମିȪଲିǅତ େକଉଁ ଶƑ ‘ଅପ’ ଉପସଗƽ େଯାେଗ ଗଠତି ?  

A) ଅବଧାରଣ   
B) ଅବେରାଧ  

C) ଅବତରଣ  
D) ଅପହରଣ  

 

 
 
33) ‘ନଗିƽତ’ ଶƑେର େକଉଁ ଉପସଗƽଟ ିରହଛି ି?  

A) ଅନୁ  
B) ନଃି  
C) ନǣି   
D) ନ ି 

 

 
 
34) ' ବାପା ' ର ତǘ ସମ ରୂପ େଲଖ|  

A) ବାବା  
B) ପିତା  
C) ବାଆ  

D) ବƌା  
 

 
 
35) ନମିȪଲିǅତ ମżରୁ େକଉଟଁ ି‘ସାŁର’ ଶƑର ବପିରୀତ ଶƑ ?  

A) ନƮିଳ   

B) ନରିŁର   
C) ନŁିର   

D) ଅŁର  
 

36) ନମିȪଲିǅତ ମżରୁ ଭƊି ଶƑଟକୁି ଚƺିାଅ ?  

A) ସƆୁି   

B) ଆଦତିȻ  
C) ଜଳǇ   
D) ସାଗର   

 

 
 
37)  ' ଅତରି ଇତ ି'- ଏଠାେର 'ଅତ'ି ଶƑଟ ିେକଉଁ ପଦ ରୂେପ ବȻବହୃତ େହାଇଛ ି
?  

A) ବେିଶଷȻ   
B) ବେିଶଷଣ  

C) ସବƽନାମ  
D) ଅବȻୟ  

 

 
 
38) ନମିȪଲିǅତ ଶƑ ମżରୁ ଭƊି ଜାତୀୟ ବେିଶଷȻ କୁ ଚƺିଟ କର |  

A) ପବନ  
B) ନଆିଁ  
C) ଗଛ   
D) ପାଣି  

 

 
 
39) ‘ଆକାଶ କୁସମୁ’- ରୂଢଟିରି ଅଥƽ କ’ଣ ?  

A) ଅସƗବ କଥା   
B) ଆକାଶର ଫୁଲ   
C) ପାରଜିାତ ଫୁଲ   

D) ଅତ ିପରୁୁଣା  
 

 
 
40)  'େଜȻାűା' ଶƑର ' ű' ଯĽୁାŁର ଟ ିେକଉଁ େକଉଁ ବťƽକୁ େନଇ ଗଠିତ?  

A) ǘ+ǩ+ନ  

B) ǩ+ଛ+ନ  
C) ǩ+ǘ+ନ   

D) ǩ+ନ  
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41) ‘ଓଳଆିରୁ ପଡ଼ି ଗଜା’ – ରୂଢଟିରି ଅଥƽ କ’ଣ ?  

A) ଜନȯରୁ ଚତୁର    
B) ପŢିତ  

C) ଜନȯରୁ େବାକା    
D) ଅତ ିମଖୁƽ    

 

 
 
42)  ପାଗଳ ଟ ିଚଳŽା ଗାଡରୁି ପଡଗିଲା | େରଖାŋିତ ଶƑଟ ିକ ିȄକାର ବେିଶଷଣ 
ଦଶƽାଅ ?  

A) ପରମିାଣ ବାଚକ  

B) ସବƽନାମକି  
C) ǰିୟାଜ  

D) ଅବƳା ବାଚକ  
 

 
 
43) ' ମǩ କା ' ର ବପିରୀତ ଶƑ ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ି?  

A) ହାଲକା  
B) ଅମସକା  
C) େଚମଡା  
D) ଟାଣ   

 

 
 
44) ‘ȄତȻପକାର’ ଶƑଟ ିକପିର ିସƨୃି େହାଇଛ ି?  

A) Ȅǘ +ଉପକାର  

B) Ȅତ+ିଉପକାର  
C) ȄତȻ+ପକାର  
D) Ȅତ+ିଅପକାର  

 

 
 
45) ନମିȪଲିǅତ ମżରୁ େକଉଟଁ ି‘ଅରଣȻ’ ଶƑର ପଯƽȻାୟବାଚୀ ଶƑ ?  

A) ମହିରି  
B) ଅଟବୀ   
C) ରୁଚରି    
D) ଅରୁଣ   
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Section 6 - PaperII-Mathematics 

 

46) Which among the given relations describe the 
idempotent law of set theory?  

A) A'UA=A and AUB=A  
B) AUA = A and A∩A = A  
C) AUB=C and BUC=A  
D) AUA ={ } and AUA = A  

 

 
 
46) ନମିȪମżରୁ େକଉଁ ସƓକƽ େସଟ ǆଓରୀର ଇେଡେƓାେଟŠ ନୟିମକୁ ବťƽନା 
କରୁଛ?ି  

A) A'UA=A ଓ AUB=A  

B) AUA = A ଓ A∩A = A  

C) AUB=C ଓ BUC=A  
D) AUA ={ } ଓ AUA = A  

 

 
 
47) If the area of an equilateral triangle is 27.712 sq. cm, 
then the length of each side is  

A) 8 cm  
B) 5 cm  
C) 6 cm  
D) 7 cm  

 

 
 
47) ଯଦ ିଏକ ସମବାହୁ ǿିଭୁଜର େŁǿଫଳ େହଉଛ ି27.712 ବଗƽ େସମ,ି େତେବ 
ଏହାର ȄେତȻକ ବାହୁର େଦଘୖƽȻ େହଉଛ ି 

A) 8 େସମି  
B) 5 େସମି  
C) 6 େସମି  
D) 7 େସମି  

 

 
 
48) The product of two numbers is 1452 and their H.C.F. 
is 11. The number of such pairs is  

A) 3  
B) 2  
C) 4  
D) 1  

 

 

48) ଦୁଇଟ ିସଂଖȻାର ଗଣୁଫଳ 1452 ଏବଂ େସମାନŋର ଗ.ସା.ଗୁ 11 । ଏଭଳ ି
େଯାଡ଼ିର ସଂଖȻା େକେତ  

A) 3  

B) 2  
C) 4  
D) 1  

 

 
 
49) If b −(5/2) = −(2/3), then the value of 'b' equals to  

A) (2/3)  
B) (3/2)  
C) (11/6)  
D) (10/6)  

 

 
 
49) ଯଦ ିb −(5/2) = −(2/3), େତେବ 'b' ର ମଲୂȻ ସମାନ  

A) (2/3)  
B) (3/2)  
C) (11/6)  
D) (10/6)  

 

 
 
50) If the perimeters of two squares are 'x' units and 'y' 
units respectively, then the value of the product of the 
areas of the squares in respect to same units is given by  

A) (xy)2  
B) xy/4  
C) x2y2/4  
D) (xy)2/16  

 

 
 
50) ଯଦ ିଦୁଇଟ ିବଗƽ େŁǿର ପରମିତି ିଯଥାǰେମ 'x' ଏକକ ଏବଂ 'y' ଏକକ 
,େତେବ ଏହ ିବଗƽେŁǿର େŁǿଫଳର ଗୁଣଫଳ େସହ ିଏକକ ଅନୁଯାୟୀ େହବ  

A) (xy)2  

B) xy/4  

C) x2y2/4  

D) (xy)2/16  
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51) If Asha's salary is 20% less than Geetha's salary, by 
how much percent is Geetha's salary more than Asha's 
salary?  

A) 10%  
B) 25%  
C) 33%  
D) 20%  

 

 
 
51) ଯଦ ିଆଶାର ଦରମା ଗୀତାର ଦରମାଠାରୁ 20% କǡ  େତେବ, ଗୀତାର ଦରମା 
ଆଶାର ଦରମାଠାରୁ େକେତ Ȅତଶିତ ଅǇକ?  

A) 10%  
B) 25%  
C) 33%  
D) 20%  

 

 
 
52) The equation v4− 13v2 − 48=0, can be factorized as  

A) (v4 + 3)(v2 + 4)  
B) (v4 + 16)(v2 − 4)  
C) (v2 - 3)(v - 4)(v − 4)  
D) (v2 + 3)(v + 4)(v − 4)  

 

 
 
52) ସମୀକରଣ v4− 13v2 − 48=0, ନମିȪମżରୁ େକଉଁ ଭାେବ ଉŬାଦକୀକରଣ 
େହାଇପାରବି?  

A) (v4 + 3)(v2 + 4)  
B) (v4 + 16)(v2 − 4)  
C) (v2 - 3)(v - 4)(v − 4)  
D) (v2 + 3)(v + 4)(v − 4)  

 

 
 
53) If A = {1,2,3,6,8,10} and B = {1, 2,4,6,9,12}, then A∪B 
is  

A) {1,2,6}  
B) {1,2,4,6,9,12}  
C) {1,2,3,6,8,10}  
D) {1,2,3,4,6,8,9,10,12}  

 

 
 
 
 
 
 

53) ଯଦ ିA = {1,2,3,6,8,10} ଓ B = {1, 2,4,6,9,12}, େତେବ A∪B 
େହଉଛ ି 

A) {1,2,6}  
B) {1,2,4,6,9,12}  
C) {1,2,3,6,8,10}  
D) {1,2,3,4,6,8,9,10,12}  

 

 
 
54) If (x+y) : (y+z) : (z+x) = 6 : 7 : 8 and x+y+z = 14, then 
the value of z =  

A) 14  
B) 7  
C) 6  
D) 8  

 

 
 
54) ଯଦ ି(x+y) : (y+z) : (z+x) = 6 : 7 : 8 ଏବଂ x+y+z = 14, େତେବ 
z ର ମଲୂȻ େହଉଛ ି=  

A) 14  

B) 7  
C) 6  
D) 8  

 

 
 
55) If each of the interior angle of a regular polygon is 60°, 
then how many sides will be there in that polygon?  

A) 3  
B) 4  
C) 2  
D) 5  

 

 
 
55) ଯଦ ିଏକ ସାମାନȻ ପଲିଗǜ ର ȄେତȻକ ଆŽରକି େକାଣ 60˚ ଅେଟ, େତେବ 
ପଲିଗǜ ର େକେତାଟ ିବାହୁ ରହବି?  

A) 3  
B) 4  
C) 2  

D) 5  
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56) The profit shared by Ananth, Banu and Chirag in a 
business are Rs. x, Rs. y and Rs. z respectively. If x and 
y are less than z by 30% and 37% respectively. How much 
percent is y less than x?  

A) 20%  
B) 5%  
C) 15%  
D) 10%  

 

 
 
56) େଗାଟଏି ବȻବସାୟେର ଅନŽ, ବନୁ ଏବଂ ଚରିାଗŋ ଲାଭର ଭାଗ େହଉଛ ି
ଯଥାǰେମ Rs. x, Rs. y ଏବଂ Rs. z। ଯଦ ିx ଏବଂ y zଠାରୁ ଯଥାǰେମ 
30% ଏବଂ 37% କǡ । ତା’େହେଲ y x ଠାରୁ େକେତ Ȅତଶିତ କǡ ?  

A) 20%  
B) 5%  
C) 15%  
D) 10%  

 

 
 
57) What is the least number if the double of that number 
be exactly divisible by 6, 15, 21 and 25?  

A) 160  
B) 196  
C) 630  
D) 525  

 

 
 
57) େକଉଁ ସବƽନମିȪ ସଂଖȻା Ÿଗିଣୁିତ େହବା ପେର 6, 15, 21 ଏବଂ 25 Ÿାରା 
ସƓୂťƽ ଭାବେର ବଭିାଜȻ?  

A) 160  
B) 196  

C) 630  
D) 525  

 

 
 
58) If m1 and m2 are the slopes of two perpendicular lines, 
then m1 x m2 is  

A) 2  
B) 0  
C) -1  
D) 4  

 

 
 

58) ଯଦ ିm1 ଓ m2 ଦୁଇଟ ିଲମȴ େରଖା ର େସȲାǝ ଅେଟ, େତେବ m1 x m2 
__________ ଅେଟ।  

A) 2  
B) 0  
C) -1  

D) 4  
 

 
 
59) John, Robert and Maxwell received a share profit in a 
business for the first year, which is in the ratio 5 : 7 : 8. If 
in the second year their profit increases by 40%, 50% and 
75% respectively, what will be the ratio of increase in their 
profits?  

A) 1 : 2 : 3  
B) 2 : 3 : 4  
C) 1 : 3 : 4  
D) 2 : 5 : 8  

 

 
 
59) ଜǜ , େରାବଟƽ ଏବଂ ମାŅେୱǤ  େଗାଟଏି ବȻବସାୟେର Ȅଥମ ବଷƽେର 5 : 
7 : 8 ଅନୁପାତେର ଲାଭର ଭାଗ ପାଇେଲ। ଯଦ ିଦିȭତୀୟ ବଷƽେର େସମାନŋ ଲାଭ 
ଯଥାǰେମ 40%, 50% ଏବଂ 75% ବୃŶି ପାଇଲା, େତେବ େସମାନŋର ଲାଭର 
ବୃŶି ଅନୁପାତ େକେତ େହବ  

A) 1 : 2 : 3  
B) 2 : 3 : 4  
C) 1 : 3 : 4  

D) 2 : 5 : 8  
 

 
 
60) A square with side length 62 cm is circumscribed and 
inscribed with circles. The radii (in cm) of the two circles 
are respectively  

A) 42√2 and 31√2  
B) 42 and 31  
C) 42√2 and 31  
D) 31√2 and 31  

 

 
 
 
 
 

Techofworld.In

Techofworld.In



Set Id : 53633_72 08-June-2019_Batch2_D.El.Ed Odia 

Page14of22  

60) 62 େସ.ମି. ପାƤƽ ବଶିƨି ଏକ ବଗƽେŁǿର ବାହାେର ଏବଂ ଭତିେର ବୃŧ ଅŋିତ 
େହାଇଛ।ି ଏହ ିଦୁଇ ବୃŧର ବȻାସଗଡ଼ୁକି (େସ.ମି.େର) ଯଥାǰେମ  

A) 42√2 ଏବଂ 31√2  
B) 42 ଏବଂ 31  
C) 42√2 ଏବଂ 31  

D) 31√2 ଏବଂ 31  
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Section 7 - PaperII-Social Science 

61) The Silent Valley Hydroelectric project was called off 
and the area was declared as a National Park in 1985-86. 
This project is related to which of the following states of 
India?  

A) Karnataka  
B) Kerala  
C) Arunachal Pradesh  
D) Himachal Pradesh  

 

 
 
61) ନƱିƒ ଉପତȻାକାର  ଜଳ ବଦୁିȻǘ ȄକƝ ବାତଲି କରାେହାଇ ǆଲା ଓ ଏହ ି
Ƴାନକୁ 1985-86 ମସହିାେର  ଜାତୀୟ ଉଦȻାନ ଭାେବ େଘାଷଣା କରାେହାଇ 
ǆଲା.  ଏହ ି ȄକƝ  ଭାରତର  େକଉଁ ରାଜȻ  ସହ  ଯ଼Ľୁ ଅେଟ ?  

A) କťƽାଟକ  
B) େକରଳ  

C) ଅରୁଣାଚଳ Ȅେଦଶ  
D) ହମିାଚଳ Ȅେଦଶ  

 

 
 
62) In to how many layers can the Earth be divided based 
on physical properties?  

A) 5  
B) 3  
C) 4  
D) 2  

 

 
62) େଭୗତକି ଗଣୁ ଆଧାରେର ପୃǆବୀକୁ େକେତାଟ ି Ʊରେର ବଭିାଜତି 
କରାଯାଇପାରବି?  

A) 5  
B) 3  

C) 4  
D) 2  

 

 
63) Which of the following was incorporated to inculcate 
responsible behaviour among the citizens of India?  

A) Fundamental Rights  
B) Directive Principles  
C) Fundamental Duties  
D) Socialistic Principles  

 

63) ଭାରତୀୟ ନାଗରକିମାନŋ ମżେର ଦାୟିŭଶୀଳ ବȻବହାର ସୃƨି କରବିା ପାଇଁ 
ନେିମȪାĽ ମżରୁ େକଉଁଟ ିସାମିଲ କରାଯାଇଛ?ି  

A) େମୗଳକି ଅǇକାର  
B) ନେିŵƽଶକ ନୀତ ି 
C) େମୗଳକି କŧƽବȻ  
D) ସମାଜବାଦୀ ସିŶାŽ 

   
 

 
 
64) The Intertropical Convergence Zone ( ITCZ) is the 
region that circles the Earth, near the  

A) Horse latitude  
B) North latitude  
C) Equator  
D) Poles  

 

 
 
64) ଅŽǰƽାŽୀୟ କନȮଭେଜƽନȷ ୍  ଅřଳ ( ITCZ) ପୃǆବୀର େକଉଁ ଅřଳକୁ ବଳୟ 
କରି ରǅଛ ି?  

A) ଅƤ ଅŁାଂଶ  
B) ଉŧର ଅŁାଂଶ  

C) ବଷୁିବ େରଖା  
D) େମରୁ  

 

 
 
65) Which of the following kingdoms was well known for 
its pearls?  

A) Cholas  
B) Rashtrakutas  
C) Pandyas  
D) Cheras  

 

 
65) ନେିମȪାĽ ମżରୁ େକଉଁ ରାଜȻ ଏହାର େମାତ ିପାଇଁ ବଖିȻାତ ǆଲା?  

A) େଚାଳ  
B) ରାƩକୂଟ  

C) ପାŢȻ  
D) େଚରା  
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66) What was the mother tongue of Rashtrakutas?  

A) Hindi  
B) Oriya  
C) Marathi  
D) Kannada  

 

 
 
66) ରାƩକୂଟମାନŋର ମାତୃଭାଷା କ’ଣ ǆଲା ?  

A) ହƃିୀ  
B) ଓଡ଼ଆି  

C) ମରାଠ ି 

D) କƊଡ଼  
 

 
 
67) Which of the following is an imaginary boundary 
between the Earth's atmosphere and the outer space?  

A) Exosphere  
B) Mesosphere  
C) Coreman  
D) Karman line  

 

 
 
67) ନେିମȪାĽ ମżରୁ େକଉଁଟ ିପୃǆବୀର ବାୟୁମŢଳ ଏବଂ ବାହȻ ମହାକାଶ ମżେର 
ଏକ କାƝନକି ସୀମା?  

A) ଏେŅାƶିୟର  

B) େମେଜାƶିୟର  

C) େକାରମȻାନ  
D) କାରମାନ ଲାଇǜ   

 

 
 
68) The Second Round Table Conference was held in 
which of the following years?  

A) 1931  
B) 1930  
C) 1939  
D) 1932  

 

 
 
 
 
 

68) ନମିȪଲିǅତ ମżରୁ େକଉଁ ବଷƽ େର Ÿତିୀୟ େଗାଲ େଟବୁଲ େବଠୖକ ଆେୟାଜତି 
େହାଇǆଲା?  

A) 1931  
B) 1930  
C) 1939  

D) 1932  
 

 
 
69) In which city was the Earth Summit, 1992 held?  

A) London  
B) Brasilia  
C) Rio de Janeiro  
D) São Paulo  

 

 
 
69) 1992 ମସହିାର ପǆୃବୀ ଶିଖର ସƙିଳନୀ େକଉଁ େଦଶେର ଅନୁƪତି 
େହାଇǆଲା ?  

A) ଲŢǜ  

B) Ȇାସଲିିଆ  
C) ରଓିଡ ିେଜେନରଓି  
D) ସାଓେପାେଲା  

 

 
 
70) How many tiers are there in government of India as 
per Indian constitution?  

A) 4  
B) 3  
C) 1  
D) 2  

 

 
 
70) ଭାରତୀୟ ସƖିଧାନ ଅନୁଯାୟୀ ଭାରତ ସରକାରେର େକେତାଟ ିƱର ରହଛି?ି  

A) 4  
B) 3  

C) 1  
D) 2  
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71) An imaginary line that circles around the Earth dividing 
it into two equal halves or hemispheres is called  

A) Tropic of Capricorn  
B) Arctic circle  
C) Equator  
D) Tropic of Cancer  

 

 
 
71) ଏକ କାƝନକି ବୃŧ ଯାହା ପǆୃବୀକୁ େଗାଲାŶƽେର ବା ଦୁଇସମାନ ଭାଗେର 
ବଭିĽ କେର ତାକୁ କଣ କୁହାଯାଏ  

A) ମକରǰାŽ ି 

B) ଉŧରେମରୁ  
C) ବଷିୁବ େରଖା  
D) କକƽଟǰାŽ ି 

 

 
 
72) "Public Service Commissions" of the Indian 
constitution is borrowed from which of the following 
options?  

A) Ireland Act 1949  
B) Government of India Act of 1935  
C) British constitution  
D) American Constitution  

 

 
 
72) ନେିମȪାĽ ମżରୁ େକଉଁ ବକିƝରୁ ଭାରତୀୟ ସƖିଧାନର ‘‘ସାବƽଜନୀନ େସବା 
କମିଶନ’’ ଉŶୃତ କରାଯାଇଛ?ି  

A) ଆୟାରଲାŢ ଆଇନ, ୧୯୪୯  
B) ଭାରତ ସରକାର ଆଇନ, ୧୯୩୫  

C) Ȇଟିǧି   ସƖିଧାନ  
D) ଆେମରକିୀୟ ସƖିଧାନ  

 

 
 
73) 74th Constitutional Amendment in Indian Constitution 
was made in which of the following year?  

A) 1992  
B) 1991  
C) 1990  
D) 1993  

 

 
 
 

73) ନମିȪଲିǅତ ମżରୁ େକଉଁ ବଷƽେର ଭାରତୀୟ ସƖିଧାନର ୭୪ତମ ସଂେଶାଧନ 
କରାଯାଇǆଲା?  

A) 1992  
B) 1991  
C) 1990  

D) 1993  
 

 
 
74) What is the length of 1°of latitude (a one degree arc of 
a meridian) at the equator?  

A) 115.6 km  
B) 110.6 km  
C) 120.7 km  
D) 111.7 km  

 

 
 
74) ବଷୁିବ େରଖା ନକିଟେର 1ଅŁାଂଶର ଲମȴ େକେତ େହାଇଥାଏ ?(ମżƃନି 
େରଖାର 1 ଡǲିୀ ଚାପ ନମିେŽ)  

A) 115.6 କ.ିମି  
B) 110.6 କ.ିମି  
C) 120.7 କ.ିମି  
D) 111.7 କ.ିମି  

 

 
 
75) Which of the following momentous occasion of our 
freedom was marked by Nehru's celebrated speech?  

A) Destiny with trial  
B) Trial with Destiny  
C) Destiny and mutiny  
D) Tryst with Destiny  

 

 
 
75) ନେିମȪାĽ ମżରୁ ଆମ Ƹାଧୀନତାର େକଉଁ ଉେơଖନୀୟ ଅବସର େନହରୁŋ 
ବଖିȻାତ ଅଭିଭାଷଣ Ÿାରା ƹରଣୀୟ େହାଇଛ?ି  

A) ଭାଗȻ ସହ ଉଦȻମ  
B) ଭାଗȻ ସହ ବଚିାର  
C) ଭାଗȻ ଏବଂ ବେିȁାହ  

D) ଭାଗȻ ସହ Ȅଯū  
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Section 8 - PaperII-Science 

76) In paddy fields which of the following microorganisms 
usually serves as a biofertilizer?  

A) Enteritis Salmonella  
B) Blue Green Algae  
C) Salmonella Typhi  
D) Escherichia coli  

 

 
 
76) ଧାନ ଜମିେର ନମିȪମżର ିେକଉଁ ସŃୂଜୀବକୁ ସାଧାରଣତଃ େଜବୖକି ସାର ଭାେବ 
ବȻବହାର କରାଯାଏ?  

A) ଏŠରାଇଟସି ସାଲେମାେନଲା  
B) ବȲ ɰ ǲିନ ଆଲେଗ  

C) ସାଲେମାେନଲା ଟାଇଫି  
D) ଏେƯରଚିିଆ େକାଲି  

 

 
 
77) The surface temperature of the stars is determined 
using  

A) Kirchhoff's law  
B) Lenz's law  
C) Rayleigh-Jeans law  
D) Wein displacement law  

 

 
 
77) ତାରକାମାନŋର ପƪୃ ତାପମାǿା କ’ଣ ବȻବହାର କରାଯାଇ Ƴିର କରାଯାଏ  

A) କେିଚƽାǞ ŋ ନୟିମ  

B) େଲśŋ ନୟିମ  
C) େରେଲǌ-ଜନିȷ ନୟିମ  

D) େଓȴǜ ବƳିାପନ ନୟିମ  
 

 
 
78) Two wires A and B have the same length and area of 
cross-section. But Young's modulus of A is two times the 
Young's modulus of B. Then the ratio of force constant of 
A to that of B is  

A) √2  
B) 2  
C) 1  
D) 1/2  

 

 

78) A ଏବଂ B ଦୁଇଟ ିତାରର େଦଘୖƽȻ ଏବଂ ଅନୁȄƳ ସମାନ। କŽୁି Aର ୟŏǩ  
ଗଣୁାŋ Bର ୟŏǩ  ଗୁଣାŋର ଦୁଇଗୁଣ। େତେବ A ଏବଂ B ଉପେର ବଳର 
Ƴିରାŋର ଅନୁପାତ େହଉଛ ି 

A) √2  
B) 2  

C) 1  
D) 1/2  

 

 
 
79) White silver chloride when exposed to sunlight turns 
grey due to the decomposition of silver chloride into silver 
and  

A) silver oxide  
B) oxygen  
C) chlorine  
D) calcium oxide  

 

 
 
79) ଧଳା ସଲିଭର େକȲାରାଇଡେର ସୂଯƽȻକିରଣ ପଡେିଲ ଏହା ପାଉଁଶିଆ ରŏର 
େହାଇଯାଏ କାରଣ ସଲିଭର େକȲାରାଇଡ ଅପଘଟତି େହାଇ ରୂପା ଓ ____ 
େହାଇଯାଏ |  

A) ସଲିଭର ଅŅାଇଡ  

B) ଅମȲଜାନ  
C) େକȲାରନି  

D) କȻାଲସୟିମ ଅŅାଇଡ  
 

 
 
80) The pattern of arrangement of leaves on the stem or 
branch of a plant is known as  

A) Vexillary  
B) Tricarpellary  
C) Aestivation  
D) Phyllotaxy  
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80) ଏକ ଉŹିଦର କାŢ ବା ଶାଖା େର ପǿେର ବȻବƳାକୁ କଣ କୁହାଯାଏ?  

A) େଭŅଲିାରୀ  
B) Ǻାଇକାରେପଲାରୀ  
C) ଏƨିେଭସନ  
D) ଫିେଲାଟାŅ ି 

 

 
81) Diseases like dysentery and malaria are mainly 
caused by which of the following groups of 
microorganisms?  

A) Virus  
B) Bacteria  
C) Protozoa  
D) Fungi  

 

 
 
81) ନମିȪମżରୁ େକଉଁ ସŃୂଜୀବ େଗାƪୀ େଯାଗଁୁ ଡେିସŠିȱ, େମେଲରଆି ଭଳ ିେରାଗ 
େହାଇଥାଏ?  

A) ଭାଇରସ  
B) ବȻାେକȡରିଆ  
C) େȄାେଟାେଜାଆ  

D) କବକ  
 

 
 
82) Plants that are adapted to extreme dry conditions 
throughout the year are usually known as  

A) Xerophytes  
B) Halophytes  
C) Epiphytes  
D) Hydrophytes  

 

 
 
82) େଯଉଁ ଉŹିଦଗୁଡକି ଅତȻǇକ ଶୁƦ ଅବƳାେର ବଷƽ ସାରା ନଜିକୁ ଅନୁକୂଳ 
କରଥିାଆŽ,ି େସଗଡୁକୁି ସାଧାରଣତଃ କଣ କୁହାଯାଏ?  

A) େଜେରାଫାଇǓ   
B) ହାେଲାଫାଇǓ   
C) ଏପିଫାଇଟ  
D) ହାଇେǼାଫାଇଟ  

 

 
 

83) Which of the following options is NOT a function of 
Endoplasmic reticulum, a type of organelle found in 
eukaryotic cells?  

A) Cellular division  
B) Intracellular transport  
C) Conduction of intracellular impulses  
D) Cellular metabolism  

 

 
 
83) ନମିȪମżରୁ େକଉଁ ବକିƝ ୟୁକାରଓିଟକି େକାଷଗଡୁକିେର ମିଳୁǆବା ଏକ 
Ȅକାରର ଅŏ, ଏେŢାପȲାଜମକି େରଟକୁିଲମର ଏକ କାଯƽȻ ନୁେହ?ଁ  

A) େସଲୁȻଲାର ବଭିାଜନ  

B) ଇŠȱାେସଲୁȻଲାର ପରବିହନ  
C) ଇŠȱାେସଲୁȻଲାର ଇƓǤ ସଗଡୁକିର ସମȴାହନ  

D) େସଲୁȻଲାର େମଟାେବାଲିଜମ  
 

 
 
84) Which among the following microorganisms grow in 
milk and converts it into curd later?  

A) Aspergillus Niger  
B) Lactobacillus  
C) Clostridium Butyricum  
D) Acetobacter Aceti  

 

 
 
84) ନମିȪମżରୁ େକଉଁ ସŃୂଜୀବ Łୀରେର ବଢି ଏହାକୁ ପେର ଦହକୁି 
ବଦଳାଇଥାଏ?  

A) ଆƶରଗଲିସ ନାଇଜର  
B) ଲାେକȡାବାସଲିସ  

C) କȲଲିƩିଡୟିମ ବୁȻଟରିକିମ  
D) ଏସେିଟାବȻାକȡର ଏସଟି ି 

 

 
 
85) The digestion of food in the body is an example of 
which of the following types of reaction?  

A) Displacement reaction  
B) Double displacement reaction  
C) Decomposition reaction  
D) Combination reaction  
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85) ଶରୀରେର ଖାଦȻର ପାଚନ େହଉଛ ିନମିȪମżରୁ େକଉଁ Ȅକାରର Ȅତǰିିୟାର 
ଏକ ଉଦାହରଣ?  

A) ବƳିାପନ Ȅତǰିିୟା  
B) େŸୖତ ବƳିାପନ Ȅତǰିିୟା  
C) ଅପଘଟନ Ȅତǰିିୟା  
D) ସଂେଯାଜନ Ȅତǰିିୟା  

 

 
 
86) Two bodies X and Y have masses 20 kg and 5 kg 
respectively. Each one is acted upon by a force of 4 kg wt. 
If they acquire the same kinetic energy in times tA and tB, 
then the ratio tA/ tB is  

A) 1:4  
B) 2:1  
C) 3:4  
D) 1:2  

 

 
 
86) X ଏବଂ Y ଦୁଇଟ ି ପଦାଥƽର ବƱୁŭ ଯଥାǰେମ 20େକଜ ି ଏବଂ 5 
େକଜ।ି  ȄେତȻ ଉପେର 4େକଜ ି ଓଜନର ଏକ ବଳ Ȅେୟାଗ କରାଗଲା। ଯଦ ି
େସମାେନ  tA ଏବଂ tB ସମୟେର ସମାନ ଗତଜି ଶĽି ଅǇକାର କରŽ ିେତେବ tA / 
tB ର ହାର େହଉଛ ି 

A) 1:4  
B) 2:1  

C) 3:4  
D) 1:2  

 

 
 
87) The Kilowatt-hour is the unit of  

A) energy  
B) power  
C) time  
D) force  

 

 
 
87) କେିଲାଓȴାଟ-ଘŠା କାହାର ପରମିାପକ  

A) ଶĽି  

B) ସାମଥƽȻ  
C) ସମୟ  

D) ବଳ  
 

88) The velocity of athe surface layer of water in a river of 
depth 10 cm is 5 ms-1. The shearing stress between the 
surface layer and the bottom layer is (Coefficient of 
viscocity of water, η = 10-3 SI units)  

A) 0.6 x 10-3 Nm-3  
B) 0.5 x 10-3 Nm-2  
C) 0.8 x 10-3 Nm-2  
D) 10-3 Nm-2  

 

 
 

88) ଏକ 10 େସŠମିଟିର ଗଭୀରତାେର ଏକ ନଦୀର ପƪୃȄƳ ଜଳର ସେମȴଗ 
େହଉଛ ି5 ms-1। ଉପର ପରƱ ଏବଂ ତଳ ȄରƱ ମżେର ଅପୂରଣୀୟ ଚାପ 
େହଉଛ ି(ଜଳ ସାƈତାର ଗଣୁାŋ ,η = 10-3 ଏǩ ଆଇ ୟୁନǓି ସ)  

A) 0.6 x 10-3 Nm-3  

B) 0.5 x 10-3 Nm-2  
C) 0.8 x 10-3 Nm-2  
D) 10-3 Nm-2  

 

 
 
89) A machine gun fires six bullets per second into a 
target. The mass of each bullet is 3 g and the speed 500 
m/s. The power delivered to the bullet is  

A) 2.25 kW  
B) 0.75 kW  
C) 1.5 kW  
D) 3.75 kW  

 

 
 
89) ଏକ େମସନି ଗǜ  େଗାଟଏି ଟାେଗƽଟକୁ Ȅତ ି େସେକŢେର ଛଅଟ ି ଗୁଳ ି
ଚଳାଇଥାଏ। ȄେତȻକ ଗୁଳରି ବƱୁŭ 3 ǲାମ ଏବଂ େବଗ 500 m/s । ଗଳୁକୁି 
Ȅଦାନ କରାଯାଇǆବା ବଳ େହଉଛ ି 

A) 2.25 kW  
B) 0.75 kW  

C) 1.5 kW  
D) 3.75 kW  
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90) Read the following statements and choose the 
CORRECT option.  
(i) Nucleolus is the round granular structure within the 
nucleus of a cell, functions primarily for the creation of 
ribosomes. 

(ii) Nucleolus is not a membrane bound structure. 

 
A) (i) is FALSE and (ii) is TRUE  
B) (i) is TRUE and (ii) is TRUE  
C) (i) is TRUE and (ii) is FALSE  
D) (i) is FALSE and (ii) is FALSE  

 

 
 
90) ନମିȪ ଉĽିଗଡୁକି ପଢŽୁ ଓ ସଠକି ବକିƝ ଚୟନ କରŽୁ |  
(i) ନୁȻକିȲଓଲସ େହଉଛ ିଏକ େକାଷର ନୁȻକିȲୟସେର ǆବା ଏକ େଗାଲାକାର ଦାନା 
ଭଳ ିଆକାର ଯାହାର Ȅାଥମିକ କାଯƽȻ େହଉଛ ିରାଇେବାେଜାମ ତଆିର ିକରିବା | 

(ii) ନୁȻକିȲଓଲସ ଚାରପିାଖେର ଝơିୀ ନଥାଏ | 

 
A) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଠକି  

B) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଠକି  

C) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଭୁଲ  

D) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଭୁଲ  
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Question Paper No:  53633_72  

Answer Key 

1.  C 
2.  D 
3.  A 
4.  C 
5.  C 
6.  A 
7.  A 
8.  C 
9.  B 
10.  A 
11.  B 
12.  D 
13.  C 
14.  B 
15.  C 
16.  A 
17.  B 
18.  B 
19.  B 
20.  A 
21.  A 
22.  B 
23.  D 
24.  C 
25.  C 
26.  B 
27.  D 
28.  B 
29.  B 
30.  B 

 

31.  A 
32.  D 
33.  C 
34.  B 
35.  B 
36.  B 
37.  A 
38.  C 
39.  A 
40.  A 
41.  A 
42.  C 
43.  C 
44.  D 
45.  B 
46.  B 
47.  A 
48.  B 
49.  C 
50.  D 
51.  B 
52.  D 
53.  D 
54.  C 
55.  A 
56.  D 
57.  D 
58.  C 
59.  B 
60.  D 

 

61.  B 
62.  A 
63.  C 
64.  C 
65.  C 
66.  D 
67.  D 
68.  A 
69.  C 
70.  B 
71.  C 
72.  B 
73.  A 
74.  B 
75.  D 
76.  B 
77.  D 
78.  B 
79.  C 
80.  D 
81.  C 
82.  A 
83.  A 
84.  B 
85.  C 
86.  B 
87.  A 
88.  B 
89.  A 
90.  B 
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